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7o qEFAC (vmmmé)mﬁaﬁnﬂmmaﬂztzﬁwmmﬁwmﬁﬁﬁam
gy fer@en /Question Booklet series code (A/BIC/DIE) printed on the right hand top corner
should be written in the OMR answer sheet in the place provided.

srageff @y 379 A 3R FAG daX) 9= SUGEl & for@em =fRuw/Candidates should enter their
Name and Roll Number in the Question Booklet.
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OMR answer sheet should be with blue/black ball point pen only.

WWWW*WWW%WWWW$WW gfad, e
AT TH @ qEasc &9/ The written test will be of objective type based on the qualification prescribed for
the post with four answers indicated, of which only one will be unambiguously correct.
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NUAHR ofT F NSHER T H A% HTT Agw/ Candidates have to select the right answer by
marking the corresponding oval on the OMR answer sheet by blue/black ball point pen as per the
instructions given in the OMR answer sheet.

Ty W & AT WR 3 g1, 3ol 7 @9 T OF 3 3N TE ANET 3 U T Sci¥ & fATwAl
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tear the OMR answer sheet along the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with candidates.
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not permitted to leave the Examination Hall during the first one and a half hour of the examination.
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dHAh! TS (AAF) & 9 & IIT & faf@a gfi8’r / WRITTEN TEST FOR THE

POST OF TECHNICAL ASSISTANT (MECHANICAL)

A FIA(Reh=a) k1=50N/mm 2T k2=100N/mm & 2l gfeiehel st ol o 3 SefRiaian Hias ud
FHIGK ATt &F Ferae a1 &1 I 50kgf dlie & Grer f&iEI T gomely |iss fadm § df §HG Ta
HiAE FaASTT 7 eI & qROTmHAY faaTqor FATTAR ----mnomom BT &(ATT of ‘g’ = 10m/s2)/Two helical

springs of stiffness k1=50N/mm and k2=100N/mm are connected in series and parallel combinations as
shown in figure, if the system of springs is loaded with 50kgf load then the resultant deflection of springs in
parallel and series combination respectively is: (assume ‘g’ = 10m/s%)

2 %
K1 Ke K1
Ke
S50kgf

S0kgf
(@) 3.33mm and 15mm (b) 5.5mm and 12mm
(¢) 15mm and 3.33mm (d) 12mm and 5.5mm

TR Ao gioia BT Re Sctest %, Tearedar WA aF Jad HT Fha 1 3 EaH

Fall &r EI%T-T %/The maximum energy that can be absorbed up to the elastic limit, without creating a
permanent distortion is called

(@) T® FATEA/Proof resilience
(b) FATEYAT & ATIeH/Modulus of resilience

(c) TEadl/Toughness
(d) 3TAHAT €&di/Flexural rigidity

S U e AT HIC F U5 T AU W AT FA § A1 500N 3N offs & rehe g,
A & N RET 2.4mm REar &, afX A5 & aw Qe a1 a9 SIS F ;T ah s
FH L df A dig & el fQeia fr afr fhdsY 8i91/When a rod of circular cross section is fixed

at one end and subjected to an axial load of 500N, the deflection under the load is found to be 2.4mm, what
will be the amount of deflection under the same load if the dia of rod is doubled & Length is reduced to half

of the original length.

() 1.2mm (b) 0.6mm (©) 0.3mm (d) 0.15mm

Waa 7 &, A a& & a9fa @ Beaw H a1fa 1 Ger & dF & o7 Al - Fgd
£/In radial cams the angle between the direction of motion of follower to the normal to the pitch curve is
called

(a) & FIUT/Cam angle (b)  SHIAIT HIUI/Critical angle

(c) &T9 SIUT/Pressure angle (d) 3q'§&?r A ﬁé’ sTei/None of the above
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10.

11.

W%WSOON/mmZ%@WWﬁ%WQWW%Iaﬁg@rmmw
mmsoomfaﬁ%ﬁwﬁmm%ﬁzégmmmwwﬁlméa’lw%ﬁm

I3 & HRX I (eTgeaTH) @Z_CE ol/An eye bolt is to be made out of steel having an ultimate tensile

strength of 500N/mm’. If load to be lifted using this eye bolt is 500kgf then using factor of safety of 2 find
the core diameter (minor diameter) of the thread for eye bolt.
(a 4V(5/m) mm (b)  5V(5/m) mm ()  15V(5/m) mm (d  2V(5/m) mm

Pfaf@a & @ g afah e f T e FIT-AT 8/ Which of the following is

dimensional formula for kinematic viscosity?
(a) L*M°T! (b) L*M'T? () LM'T? (d L*MT!

THAT GHa AT wHg, S daf@d Vv, U3 IWER LA FEAdT o TS dAd o
AfPATId 81T &/The only possible dimensionless group that combines velocity “V’, body size ‘L, fluid

density ‘p’ & surface tension ‘c’
(a) Lpo/V (b) pVLYc () oLVp (d pLV¥o

AT F 1.5 x 104 ms &R LaTAar § o fafre wecd 0.6 ¥l kg/ms It # A
fAERITAEY AT &/ An oil has kinematic viscosity of 1.5 x 10 m%s and specific gravity of 0.6, what is the

dynamic viscosity in kg/ms units
(a) 0.09 kg/ms (b) 0.9 kg/ms (c) 0.009 kg/ms (d 9kg/ms

W@W@WWﬁ,uﬁﬁma;mzommzmwaﬁrm15cmazn
m60rpmﬁqﬁam%,Eﬁaﬁuﬁﬁmmwé:%mlmam%/madouble

acting reciprocating pump if the area of piston is 200cm’ and length of stroke is 15 cm and crank is rotating
at 60rpm, then neglecting the losses, the discharge of pump is:
(a) 6 Litre/ min (b) 60 Litre / min () 360 Litre/min (d) 200 Litre/min

LTS R 1 | - (R WEe ¥ STEf YaTE & ourd S § dT alel 497 TR g/ is the
point in a fluid stream where the diameter of the stream is the least, and fluid velocity is maximum.

(a) d=T Flegracl/Vena contracta (b)  forfeael U1ge/Critical point
(c) ggof qrSe/Neutral point (d) dcd &g & 9TSC/Point of centre of gravity

10 m/s a1 & AT 1m m%qﬁwmﬁmmwﬁam%l IfE 10m oS 9139 & v
RrarereT /a¥uT & HROT d1F 36 g8 0.2m a?ﬁﬁs&ammﬁwé;gvﬁ%wam%(mﬁmo g &
&UT 0T =10m/s2)/Water is flowing fully in a circular pipe of diameter 1m with a velocity of 10m/s if

loss of head due to friction is 0.2m for a pipe length of 10m what is the coefficient of friction (assume
acceleration due to gravity g =10m/s’)
(a) 0.01 (b) 0.001 (c) 0.1 (d 0.02
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12.

13

14.

15.

16.

+ &

18.

19.

20.

quﬁﬁwaif%%mﬂaﬁaﬁrﬁwscmﬁtimémcm%laﬁwmﬁ
3q% 9@ @ AF A 6em Sa$ F S W Q FC IRQ ¢ AU TF F WA H AT

2247 cm3, dar Qf?f F hEeH & NI Hr AT - grar %’/ The radius of lower base of a right circular

cone is 8 cm and height is 10 cm. If a plane parallel to its base cuts the cone at a height of 6cm from the base
and the volume of frustum of cone is 2247w cm’ then, the radius on top of frustum of cone is,

(a) 6cm (b) 4cm (©) 3cm (d 2cm
[ x log x dx =

(a) x*(logx—")2 (b) logx—x*

(c) log x (1) d) -1

lim (N2x +35) = 5)/(x+5)
(a 1/5 (b) 1/6 (¢ 1N5 d) 1/2V5

If&/If Sin 3x = Cot 30 x Sin 150, dl/then x is .
@@ 20° b) 15° ©  30° d  60°

L7 x* + 3y* + 4x% + 6x = 100, Althen (dy/dx)e, 4,

(@) -55/72 (b) —53/72 ()  =59/72 d) -61/72

U FAERE FHEOT &, x2 + (V5 — V3)x—/15 = 0 Tl & T TF IOTADA ------omeov 8 Ina
quadratic equation, x>+ (\/5 - \/3)x—\/ 15 =0, sum and product of roots are,

(@ (V3-+5)and 15 ()  (V5-+3)and V15

() (V5+13)andV15 (d  (V3+V5)and 15

Fargifes FHBIOT F ATax@+bx+c=0, 3¢ b2-4ac =0 dr ¢ g/For a quadratic equation,
ax® + bx + ¢ = 0, if b>— 4ac = 0, then the roots are, '

(a) dTEdfae U9 GHTA/Real and equal (b)  aRdfas d fResi/Real and distinct
(c) feud Ug FATA/Imaginary and equal (d Hfeud Ug fAe=1/Imaginary and distinct

Wmmﬁaﬁmmsaﬁmmaﬁdﬁwm@%m%mwm

&/What is angle between hours and minutes needle of analogue clock when the clock is showing time as
6:15?
(a) 97.5° (b) 90° (c) 82.5° (d) 105°

qred oETS ‘@’ & HHETE FIT & 37ET IchoT FIarell 99 ded $r f3AT §/The radius of biggest

circle that can be inscribed inside of an equilateral triangle of side length ‘a’ is,

(@) a/(2\3) (b)  a/(\V3) (©  a/(V2) (d) a\3/2
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21

22,

23.

24.

25.

ATATA-FATSS FroeT gomer #, ™A SAgs e %mﬁqgaﬁaﬂ?f%/m

Lithium-Bromide refrigeration system, Lithium-Bromide is used as

(a) #HEI IPRST{S/Primary refrigerant (b) aﬁ?ﬁ'ﬂ' Ihaie/Secondary refrigerant
©) 3792/ Absorbent (d) 3'¢{53"51' 7P #e1/None of above

sAH A gAlds & U;Wﬁ H Ired ﬂﬁt’/Find the wrong among the following properties of ideal
refrigerant

(a) @& FaUeen/Low boiling point

(b) TaeT fg#Th/Low freezing point

(c) Taet aed FSHT/Low Latent Heat

(d) 3cad TERE FRcd/Good chemical stability

‘R22' yefa® & fav qE—IAS q?ﬁiT*IT/Chemical formula for ‘R22’ refrigerant
(a) AT FART 3B q'T{{T #Hr¥¥7/Mono chloro di fluoro methane

(b) ';"I'é' FART AT W;ff #Y /Tri chloro mono fluoro methane

(©) IS FART Al Wﬁ:ﬂ #H+7 /Di chloro mono fluoro methane

(d) 37§ FARY 31§ Ferll H1de/Di chloro di fluoro methane

uF arsq GuiEe IheRee FOTel &, afe g T Ud T2 & @ FSAT HAM 100 kd/kg dAT

25kJ/kg dUr ‘@’ F s8ad Ware 0.5 gl s & aed AT @ZE o/In a vapour compression
refrigeration system, if liquid heat at temperature “T1’ and ‘T2’ are 100 kJ/kg and 25kJ/kg respectively and
the dryness fraction at ‘a’ is 0.5, find Latent Heat of refrigerant

T hme e ﬁ-————-————-‘ \c
/N \
;f ! x‘\x \\x
VA RN NN
y i =

e 5:

sl 52

(a) 200 ki/kg (b) 300 kJ/kg ) 150 ki/kg ) 350 kl/kg

TYET TSAT dr RHTST §/Relative humidity is defined as :

(a) Y dY R & '{ﬁ? uT I & AR/ Weight of water vapour per unit weight of dry air

(b) @ ATAAT & ﬂ‘fﬁf QY oo drsq & S/ Weight of water vapour per unit volume of air

(©) aaamé:mﬁang%ﬁmmmﬁm@m%maﬁwmﬁ
argy HF[‘?T @1/Mass of water vapour in a given volume of air to mass of water vapour if the air is

saturated at the same temperature

() IFT H B #A61/None of above
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26.

27.

28.

29.

30.

31.

mmwam¢a§aqaﬁaﬂmﬁmwamﬁmﬁﬁmﬁqqgﬁm%mOmauy, the
following condenser is used in big refrigeration system of air conditioning plants
(a) &fdeIE HSAEI/Double tube condenser

(b) o TI <gd &hgsTaX/Shell and tube condenser
(c) AT TF IS H3T8I/Shell and coil condenser
(d) IS HZATY/Evaporative condenser

ST aTEt @Y 90° F ufdede e & ar Fo Uvor & AU g § @ia-ar TR @& 8/ When

shafts are intersecting at 90°, then, which of the following gears are recommended for transmission of
power?

(@) TR FIUSpur gear (b) daa TAUBevel gear
(c) gferper A/ Helical gear (d) eFseRk FRI—IYTumbler gear

g gfdamae Y A F Fafora & s HIF-AT §/Which of the following machine employs

quick return motion mechanism?
(a) TATST #FM=/Milling machine (b)  IEeSI AMA/Grinding machine
(c) AfT FMA/Shaping machine (d)  f3feier AM/Drilling machine

agqmtﬁgamaﬁmmmﬁmﬁ$aﬁaﬁ?naﬁé?ﬁvﬁuﬁwﬁm¢saﬁ

¥ HII-AT §/Which of the following is used in lathe to give desired direction of movement to the lathe
carriage via lead screw or the feed shaft?

(@) 9T T R/Bull gear (b) It FIUChange gear
(c) #HX TA/Mitre gear (d) TFser AU Tumbler gear

m%mmﬁﬁméﬁ,ﬁﬁ%%wﬁ%m%ﬁwqﬁamﬁwmaﬁm

&/The process of removing the metal by cutter which is rotated against the direction of travel of work piece is

called:
(a) 3137 TATRT/Down milling (b) 319 fATA/Up milling
(c) Tfsa fAfdT/Straddle milling (d) 37 TATST/Gang milling

HeRel T FHA F AT He 9T & AT FH A7 A Bl - FT §/Which of the following is
the increasing order of cutting speed for cutting tool material?
(@) &S F T, TeTs SIreet FIa1Ss, TauaeH, JAAFH T gRT
High Carbon Steel, Solid Tungsten Carbide, HSS, Ceramics & Diamond
(b) TS FT T, TITHTH, WS S FraTss, JATAFH Td gRT
High Carbon Steel, HSS, Solid Tungsten Carbide, Ceramics & Diamond
) WITEFT, g1 FeeT TEIel, WIS SIS FH1aT$s, TATHTH T gRT
Ceramics, High Carbon Steel, Solid Tungsten Carbide, HSS & Diamond
)  ERTETS FTaT T, BeIS CIEeT HIaTSs, TUHTH Ud AUfAFH
Diamond High Carbon Steel, Solid Tungsten Carbide, HSS & Ceramics
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32.

33.

34.

35.

36.

UfHT & FROT gqell Yoot d AT Td WA colleh &l AHATOT e gy X bl & ol AT
F ST Th TEF & T H HH e & o0 9ea & IR e fhar e 39 R & grest

I @gd o/Sagging of thin pattern due to ramming can be overcome by constructing a supporting block
which may fit inside the pattern to serve as a support during ramming such a pattern is called

(a) T Il YeA/Match plate pattern (b) HIal §15 9eai/Follow board pattern
(c) feeT 3T Yea/Built up pattern (d) oIS 319 YeA/Lagged up pattern

AR TolaioTeed, Folacionsiesh Uihdl, IHFTAS SHHIOT AT HOUNor 3fe wfhard
--------------- F T 9gFd HIAT &/Mechanical pulverization, Electrolytic process, chemical reduction
process and atomization are the different processes employed for:

(a) P g H EI@E!# & fuee & ggel A TPl & AHUT/Mixing of different constituents

before melting of metals in furnace
(b) UTHST Al H IIFsT Hr m/Preparation of powders in powder metallurgy

(c) HIEEIT & IRATST Tq B14T3T/Cleaning and deburring of castings
(d) FIEETT & fav Tag AR ufshan/Surface finishing processes for castings

SAH A ITeld HUA DlI-AT &/ Which among the following statements is incorrect?
(2) A dQ/T & =hrr TaATael e & al Tsh Saaci o/ ‘

If “cyclic integral of dQ/T is zero’, then cycle is reversible
(b) AT dQ/T & =sh1 FHTeheT YT & A § ol Tsh He[cshHUN 8/
If ‘cyclic integral of dQ/T is less than zero’, then cycle is irreversible
(c) & dQ/T & Tehi AT Y W 3TV § Y =eh IHH &/
If ‘cyclic integral of dQ/T is greater than zero’, then cycle is impossible
(d) I dQ/T & =TshrT HAThel Yrd A TV IT HHTA g cit Tsh IfefcsheTon g/

If ‘cyclic integral of dQ/T is greater than or equal to zero’, then cycle is irreversible

U Sclfdesd M & fHTAT &FaT 2 kW 8, ST 27°'CH ded giar g1 Ifg 20L 3T IR & sw
ST § U9 20fRse §HT d% acd Har gl I I gl A s, [Aude & ®7 F e

& 3eT T AT &, ST & T g& of (A 1 ke ad ski/kg @ R)/Water @ 27°C is heated
in an electric geyser of capacity 2kW. If the geyser is filled with 20L of water and heated for a duration of
20 minutes, find the temperature of water neglecting all the heat losses, assuming pressure inside the geyser
as constant (Take specific heat of water as SkJ/kg)

(a) 72°C (b) 51°C () 65°C (d) 40°C

I & e use SIS ACHEE:T ﬁa}m?r grar %’/Triple point of water exists at
temperature pressure

(a) 373.16K,611.2 Pa (b) 273.16K, 6110.2 Pa

(c) 273.16K, 611.2 Pa (d) 373.16K,6110.2 Pa

8 681 TA(MECH)



37.

38.

39.

40.

&3 # fGu arv dY 4 3@ & fov adiss geT l/Identify the compressor for the PV diagram shown in
figure

PN

(a) Uehel TXOT W/Single stage compressor

(b) ¥ TOT FREH/Two stage compressor

(©) Wﬁ!ﬂ & Iy aj% TIOT HYISH/Two stage compressor with intercooling
(d) FSAT INET & FqIYT aj% TIOT FUIEHh/Two stage compressor with heat addition

10m/s, 100kpa AT 1m? /kg # T Y HWsh & AEIH A 1kg/s HT X W I R varfed
X § AT 6m/s, 800kPa Td 0.2m3 /kg & BIS ad §l a BIF 3 & HidRE Fel arg waw
T # 100kJ/kg 3 §1 FdiSH Siehe A Hiclar STl 100kW T & W arg ¥ FAT @i

N gl T 9T I F T §E e/Air flows steadily at the rate of 1kg/s through an air compressor at

10m/s, 100kpa and 1m’ /kg and leaving at 6m/s, 800kPa and 0.2m’ /kg. The internal energy of the air leaving
is 100kJ/kg greater than the air entering. Cooling water in compressor jacket absorb heat from air at the rate
of 100kW. Find the rate of work done.

(a) 260kW (b) 480 kW () 320 kW (d) 540kW

FIIC FoTel I &TAT Jol & forw 3if8e yemaemel AfT wla-d &, 56l T1 9 & T T2 @F
&/More effective way of increasing efficiency of Carnot engine where T1 is source and T2 is sink is:

(a) T2 I R @ §'(r T1 &I §GTAT/ Increase T1, Keeping T2 as constant

(b) T1 I R @ §I" T2 &I g1/ Decrease T2, Keeping T1 constant

(c) C&TdT delT 3 aHT %’/Increasing efficiency is impossible

(d) W{i’dﬂ' #H @IS Ad1/None of the above

T 1000 TR T ST a1, Shich & AT 1000rpm F TerdT g1 AT g gamdY 219 400kpa &
AT ST hT G&TAT 0.5 Ar SoTeT o sieh a¥ g1l /In a 1000CC four stroke IC engine with crank running at

1000rpm, if the mean effective pressure is 400kPa and efficiency of engine is 0.5, then break power of the
engine is
(a) S3kW (b) 4/7kW (c) 3/5 kW (d 79kW

9 681 TA(MECH)



41.

42.

43.

44.

Arafaf@a # & Fafdd-Calsh HUA gaihl ford/Choose Kelvin-Plank statement among the following
(a) wqﬁwﬁmmmﬁmméqﬁvmaaﬁwﬁwmﬁ

st & @ry & FvAT fAfAET Fa &/ It is impossible for a heat engine to produce net work in a
complete cycle, if it exchanges heat only with bodies at a single fixed temperature

(b) TH 3@, WA W F 35T §, S Asfhd A FEIfod FA GAT HoR F gl 1Sy
T FSHT TATATGROT & ATdT D5 JHG 3caifed gl HIl/lt is impossible to construct a

device which, operating in a cycle will produce no effect other than the transfer of heat from a cooler
to hotter body

(c) qjﬁa‘%’f Ul W&a d&ar &/Entropy of universe is always increasing
(d) 3'q?§)7=1'7-l' #H FIS AGI/None of above

IR T PITARR Felales BIUT ‘O’ USe H T Fleh AEFIGEAT H g af T1/T2 Td T1/T3

gl & 3-!@‘11?{ HHAA:; - GTEIT %’/If three coplanar concurrent forces acting at a point ‘O’ are in
equilibrium, then ratios of forces T1/T2 & T1/T3 respectively are

12 T
AN /
s };od

i E} )
120655 | 150deg

M

b

T3

(@ V3 and\3/2 (b) V3/2and\3 (¢) land% (d Y%andl

SAH A Hld-AT Y e ‘ﬁ?gﬂﬂ & FaYT H Ired &/ Which of the following statements is false

with respect to simple pendulum?

(a) ﬁﬁﬂmgmﬁmmﬁiﬁwrkﬂaﬂmﬁﬁaﬁaﬁ?éamasm
&/The time period of simple pendulum is directly proportional to mass of the body suspended at the
free end of string.

(b) e ﬁFg'ﬂ'H Hr Fromafr BT i de98 & THaW FC & Wﬁ? &/The time period of
simple pendulum is directly proportional to square root of length of the string.

() ﬁfﬁﬂﬁ@wﬁmﬂﬁa:mam%mw#m%meﬁme
period of simple pendulum is inversely proportional to square root of acceleration due to gravity.

(d) ﬁﬁﬂﬂﬁﬂﬂﬁﬂﬁ%%ﬁ%%ﬁﬁﬁ%%%mmwﬁmaﬁ%/me

time period of simple pendulum does not depend on mass of the body suspended at the end of string.

60m FaT$ & Uw crax A Rya cafed aifas fGar & 300 HIOTH 40m/s AT & WY UH TE]
FW A IR G & axg A JOFAA FAS T qW HA W IdT R & Hel TAT €T

A o g = 10m/s?)/A person standing on a tower of height 60m throws an object upwards with a

velocity of 40m/s at an angle 30° to horizontal. Find the total time taken by the object to gain maximum
height and fall on the ground (take g = 10m/s?)
(a) 3s (b) 20s (c) 6s (d) 16s
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45.

46.

47.

48.

49.

50.

51.

‘r’IﬁaﬁGmﬁéNrpmaﬁr?ﬁﬁqﬁﬁ‘m’kgmﬁ?ﬁmmaﬂ‘F’m@H%l
Ify Boar a1 a1fY oo ¥ B U R EF HTRAT I HT QI B g, dl A wd Fear

HAA: B o/The centrifugal force acting on a body of mass ‘m’ kg rotating at a radius of ‘r’ metre and

speed of N rpm is ‘F* newton. If the centrifugal force need to be doubled either by keeping radius constant or
by keeping speed constant, then the speed and radius respectively are
(@ V2N,2r (b) V5N, 2r () 2N,r2 (d 2N, \2r

UF A& # STef 20 kmph AT & G YAIRd HA § TAT TF AlAl Th dc @ @Y dC ;T IR
Ter T ¥ T Al F qor, A& B G F waad f&w F 20 kmph & @Ar A A fAEfa 2km
g ar A& & Rem & 3R Al 9 F gEE g hIoT @ZE S/If water in a stream is flowing with a

velocity of 20 kmph and a boat is travelling from one bank to another bank, if the velocity of boat in a
direction perpendicular to direction of stream is 20 kmph and width of the stream is 2km, then the time taken
and the angle at which boat makes with the direction stream is,

(a) 6 min, 45° (b) 9 min, 30° (¢) 12 min, 60° (d) 9 min, 90°

1000 m @aT$ & U a7 90 kmph I W TeldT § AT 1000 m #aTs H T Yol IR HA g

9ol O FT & TAU rasy AT 3M9™S ¢/If a train of length 1000 m is cruising at a speed of
90 kmph and crosses a bridge of length 1000 m, what time does it take to completely pass the bridge?
(a) 25s (b) 80s (¢) 30s (d) 400s

YAH HIfe Scdleleh H, S48 & Pl-a1 gl 2/In a first order lever, which of following is true:
(a) Wi 3R BawhA & 9T AT g/Effort is between Load and Fulcrum
(b) I 3R Al & T BoshA g/Fulcrum is between Effort and Load
(c) omd IR yIm & g dig &/Load is between Fulcrum and Effort

(d) B'Q'{i??f # FIS AGI/None of the above

ey fowd &g 3IUTY135|' o & TaY &, 38 $gd o/Substances in which the measured

properties are independent of direction are called

(a) AT tIaTgi'/Homogeneous substances (b) e AR ED qa‘ﬁi’/lsotropic substances
() IEAECARIED tI?:\'T?i/Anisotropic substances (d) forEcarssT qalzi/Crystalline substances

3T Flee] T H el I TaeTd/Percentage of carbon in high carbon steel is:
(a) 0.15t00.25% (b) 0.25t00.5%
(c) 0.6to1.4% (d)  1.8% A SIET/Greater than 1.8%

Fg gfHT & v Jaged gferar sla-ar &/Which of the following process is not used for case
hardening?

(a) SNSRI/ Carburizing (b)  ATSersiEa/Nitriding
(c) HIAE33T/Cyaniding (d)  ARFABSI/Normalizing
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52.

53.

54.

95.

56.

57.

58.

Afaf@a 7 yerit & gdcag &1 gedr FF - g/ Following is the decreasing order

of density of material

(a) TIRCA, PR, el ST, H@ﬁﬁ'ﬂ'ﬂ/ﬂ“ungsten, Copper, mild steel, Aluminum

(b) Hﬂﬁﬁ'ﬂ'ﬂ' , Fgel ST, I, TIEC /Aluminum, mild steel, copper, Tungsten

(¢) FHGeT SEIIA, PITR, TIRCH, 3@'@%’&?/ Mild steel, copper, tungsten, Aluminum

(d) IR, mﬁw , FGel SEId, TIEC/Copper, aluminum, mild steel, tungsten

gerf & AT F aUAT HH FEATHET H e g/Following is the increasing order of

melting point of materials

(a) IGIGEGE ENT—EH, FII, Hﬂm/Silicon, tungsten, copper, aluminum

(b) R, e, Eﬂﬁﬁ'ﬂﬂ', E.?’R:EFI/Copper, silicon, aluminum, tungsten
(c) mgﬁﬁuw, FINR, el SEAT, caEeA /Aluminum, copper, mild steel, tungsten
(d) gTIrTEeT, el SHd, PR, 3@@%’&? /Tungsten, mild steel, copper & Aluminum

v s &= a5 #, faega vfow @ =ifys fagla (dR/R)/(dUL) # aniféis alade @t

----------------- Fgd g/Fora given strain gauge, relative change in electrical resistance to mechanical strain

(dR/R)/(L/L) is called,

(a) 9fdde TcH/Stress factor (b) YA "GTH/Gauge factor

(c) UfcRItThdl/Resistivity (d) @l 3FeIqTc/Poisson’s ratio
HleTol 7 W imemiemaptis & ﬁ"ﬂﬁl?—_g £/Monel metal is an alloy of

(a) IR TG fSAH/copper and zinc

(b) HI ug dRTATH/copper and beryllium

(c) IR TG fATel/Copper and nickel

(d) #Afafefsasdm va Awe/Molybdenum and nickel

sAH {ljﬁnm & PlA-AT MSAICII/AANCI R AIHTT 6l 8/ Which of the following Isotope of

Uranium does not exist?
(a) 92U233 (b) 92U235 (c) 92U238 (d) 92U242

TH 5Fed @B 7 I 3M3cale & sos T & HIUT 60° § dF 3FIeH XA & A had
gadrteld E&TdT &IaT g/In an impulse turbine if angle of blade tip at outlet is 60°, the maximum hydraulic

efficiency of the impulse turbine is
(a) 80% (b) 75% (c) 90% (d 60%

lkg i & H‘Q’\U‘f ggl & fow 3nfera siffaast &r HATAT/Quantity of oxygen required for complete

combustion of 1kg of methane is
(a) 7kg (b) ©6kg (©) 5kg (d 4kg

12 681 TA(MECH)



59. dreY TJF dFe SAH I Hla-AT &/Which of the following is a water tube boiler?

60.

61.

62.

(a) SIII FFE/Cochran boiler

(b) AR/ Lancashire

(c) dTadldh fAedhied dTde/Babcock Wilcox boiler
(d) elRIAET dTeR/Locomotive boiler

S8 fAWST/Match the following :

<
T=C . PV'=C
P 2 P P 4 P
4 ? f 2 ?
2 1
v T v
A B C |
(@) A-FeC arsfeat/Carnot cycle, B-UREFHT arsfaral/Ericsson cycle, C-3raTel AT3fhel/Diesel cycle,
D- &1 8T arsfdel/Dual combustion cycle
(b) A-Tefolar afhcl/Sterling cycle, B-dleic ATSfehel/Camnot cycle, C-GIgT &g« AT3fdhel/Dual
combustion cycle, D- 3iTgT ATSfaRal/Otto cycle
(c) A-Tefelar arsfda/Sterling cycle, B-UR&HaT ABfRa/Ericsson cycle, C-31gT A3fdHa/Otto cycle,
D- &8 &g Hﬁﬁv_ol'/Dual combustion cycle
(d) A-Flic @SfRa/Carnot cycle, B-FefeldT ATSfhal/Sterling cycle, C-3gl &ASfHe/Otto cycle,

D- Srotel Argfehel/Diesel cycle

TF dR TEH, Sl 9 & g & AET & b F T 3uAfg § 9 aer A
WWW@WW%ﬁ?@ﬁﬁﬂﬁ3VF|TﬁaaHT%/Aboileraccessorythatis

used to put off the fire in the furnace of boiler when the water level in the boiler falls below safe level and
prevent over heating of tubes

(a) WIS Y% dred/Feed check valve (b) T 3HTH Hi/Blow off cock
(c) W‘ﬁﬁﬂ' CeldT/Fusible plug (d) TH T dled/Steam stop valve

ST T WO JOTeT &T A fash st il & 3r7ar a1fd ve ot R Fad: A

FLA P &TAAT 81, 3T YUTAT Pl e 81 §/When a CNC system is capable of automatically adjusting
the speed and feed parameters according to actual cutting conditions the system is said to have

(a) grmAfae difeie fSa301/Programmable logic control
(b) 3@3‘2_@' fAr=01/Adaptive control

(c) UcheT HEACH® fAIFUT/Direct Numerical Control
(d) Taarfed a1fa fAFF01/Automatic speed control
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63.

64.

65.

66.

67.

68.

us guif gacih, S doadr 7 J ufd, 39T UG awor & ard WgFer afEned aRd g/A

rotary actuator which enables precise control of position, velocity and acceleration of slides in CNC
machines is

(a) UeASISY/Encoder (b)  RAreaUResolver
(c) 3BAsFCITeA/Inductosyn (d)  TafAIEI/Servomotor
qaifeady A, SCARA UG --—---—---—-- ¥ gRauff 2reg &/In robotics the term SCARA is an acronym for

(a) TR Aead Feles MfeHees TdlT 31#/Special CNC controlled Articulated Robot arm

(b) JAFEG FHeaded ATl Ydle 37TH/Selective Compliance Assembly Robot Arm

(c) U deles ACATeH Qe 31Td/Self Controlled Automatic Robotic Arm

(d) TS R F3NfEAc NeAfes Uaifes 3mA/Standard Cartesian coordinate Automatic

Robotic Arm
YT o Ho Beed H O HUROTAA---— TgFd A & is usually
employed in open loop control system
(a) Faf Hred/Servo motor (b) T HICY/Stepper motor
(c) 8eIsaRlel Hlc/Induction motor (d)  TEF ST Ale/Brushless DC motor

Afeefier sate 3 vy &9 & oud doadl o€ e # FAES A FHT FAA T H GET
HHATes CadRT gfadeT igT grdr g ar Y SR chgl SIldl 2/In CNC part programs commands that

remain in effect in multiple blocks until they are changed by another command from the same group are
called

(a) eS8 HATgH/Standard commands (b)  HISA HHATSH/Modal commands
(c) ATHAISA &HATTSH/Nonmodal commands (d) fafatr sATTgH/Miscellaneous commands

Arediioes & duedr s 8laT 8/ln CAD/CAM the term ‘PLC” stands for
(a) T difosh &erel/Process logic control

(b) gramAfae Aifeie @elel/Programmable logic control

(c) AT dfSrh Fhetel/Position logic control

(d) W afdsd Fetel/Parameter logical control

m,ﬁwﬁawmammﬁmmmmmawm
2/The scrap which is expected or predetermined and its effect is taken in to account at the time of cost
estimates is known as

(a) gmaTae Th9/Administrative scrap (b) de7 EhIU/Legitimate scrap

(©) 31'5[\0? Tehd/Defective scrap (d) B'Q'éi'q—?f " ﬁé #e1/None of the above
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69,

70.

71.

72.

73.

74.

Fi-%

Aedra dicargsT HaTTe & AT z7d FiF-T@r FE &/ Which of the following is not a method of
financial incentive payment?

(a) BT WTAITH TelleA/Halsey premium plan (b) dsag MATH Telled/Bedaux premium plan
(c) g MIATA Tallsl/Rowan premium plan  (d) ANAT=g NfAITH TaATA/IThonson’s premium plan

afY 3t & gl 0 - & fAT 9gFd FTd &/In motion study the symbol O is used for
(a) fae@/Delay (b)  TTI/Storage
(c) TAYETU/Inspection (d)  YdTelel/Operation

----------------- AT #, v ANT A gy HHead TR 396 I How F FAF F T=WI
wmﬁwaﬁﬁaﬁﬁﬁwmmﬁamiﬂm method

depreciation amount per year for a machine is calculated by substracting scrap value of machine from its
original value and divide the remaining by number of years of useful life

(a) BTHATT Jelel {TA/Diminishing balance method
(b) AR s {fA/Sinking fund method

(c) arfS¥hr =nfeter AfA/Annuity charging method
(d) el Y@r JfA/Straight line method

ANE I ——mmmmmmmmmmm & d H FATFBRT & &/Gantt chart provides information about
(a) HAFAGATFT HT 39dTeT/Utilisation of manpower

(b) THIAT Fr Fufea E\?hllnventory of materials

(c) 3cyurce W/Production schedule

(d) s tl‘\Tﬂ"l?j’?Fl'l?-T/Sales forecasting

----------------- HaraeT a1 fAfoedy Foraa off wga &/ organisation is also called as military
organization.

(a) eFee/Functional (b)  ©@M3e/Line

(c) @S UG ¥FCTW/Line & staff (d) 3'5[{533?{ # $IS Agi/None of the above

50cm I U4 75cm A & U o RAfdst F @t gdel W HA Tole FET g, I A
wiféer i awEd uid TEaR @A & AT w1 g a wiE cdfda d1 P @eTd gE/A solid

cylinder of diameter 50 cm and height 75cm need to be chrome plated at all the surfaces, if cost of chrome
plating is Rs 1 per sq.cm find the total cost of chrome plating. Assume n = 3.14
(@) Rs. 15700 (b) Rs.31400 (¢) Rs.47100 (d) Rs. 20400

Qi? ¥ 38T H AT AR & T 3 3%?; & yTaTee FIT Sfad $eal/Intersection of a solid

cone with a plane parallel to axis of the cone will generate

(a) &rEged/Ellipse (b) TS Triangle
(c) UXETel/Parabola o (d) gI3ualell/Hyperbola
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